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REEROME

LI EI
%51 [\ 2010 4~ 4 H 24 H ~ 2011 4 3H 11 H
55 2 [\ 2012 4 4 H 2 H ~ 2013 4~ 3H 28 H
55 3 [\ 2014 4~ 4 H 2 H ~ 2015 4~ 3H 23 H
55 4 [A] 2017 4~ 4 H 6 H ~ 2018 4~ 2 H 26 H
%5 5 [\ 2020 4~ 7TH 30 H ~ 2021 4~ 3 H 31 H
75 6 [A] 2023 4~ 4 H 3 H ~ 2024 A~ 3 H 23 H
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#F* 1 MIC range B U MIC MIC: u g/mL
4 Fiti[a] B RR S MIC range MICso MIC90
EREE 50 0.5 - 1 1 1
AF I T M % 2 Al 60 0.5 - 1 1 1
BT RO ERE %3 9 | 05 - 2 1 1
Methicillin Susceptible %3 D :
Staphylococcus aureus o 4 [l 50 0.5 - 2 1 1
(MSSA) %5 5 A 50 0.5 - 1 0.5 1
% 6 [A] 50 0.25 - 1 0.5 1
%1\ 100 0.5 - 2 1 1
AF Vi % 2 Al 120 056 - 2 1 1
BT R TR % 3 |r] 180 | 05 - 2 1 1
Methicillin Resistant —
Staphylococcus aureus o 4 [l 100 0.5 - 2 1 1
(MRSA) %55 [A] 100 05 - 2 1 1
% 6 [A] 100 0.5 - 1 0.5 1
%1\ 34 0.25 - 0.5 0.25 0.5
=V R A 37 0.25 - 0.5 0.25 0.5
SRR 3 [A] 58 025 - 0.5 0.25 0.5
Penicillin Susceptible —
Streptococcus pneumoniae o 4 5l 46 025 - 0.5 0.5 0.5
(PSSP) %5 A 56 0.125 - 0.5 0.25 0.5
%6 [\ 61 0.125 - 0.25 0.25 0.25
ERNE 29 0.25 - 0.5 0.25 0.5
/\":“/U‘/ﬁf_‘ﬁl@i‘”ﬁ % 2 [a] 33 0.25 - 0.5 0.25 0.5
| MhRERE 5 3 [al 44 0.25 - 05 0.25 0.5
Penicillin Intermediate —
Streptococcus pneumoniae #4181 32 025 - 0.5 0.5 0.5
(PISP) %5 A 40 0.25 - 0.5 0.25 0.5
%6 [\ 36 0.25 - 0.25 0.25 0.25




R=T VU
Jiti 9% BR 14
Penicillin Resistant
Streptococcus pneumoniae
(PRSP)

%10 12 0.25 - 0.5 0.25 0.5
%20 20 0.25 - 0.5 0.25 0.5
R 33 0.25 - 0.5 0.25 0.5
%4 09] 22 0.25 - 0.5 0.5 0.5
%5 (] 4 0.25 - 0.5 0.5 0.5
%6 (] 3 0.25 - 0.25 0.25 0.25

MIC: &/MNEE LR E

MICs0: 50% /DB R IEBE

MICoo: 90% 5% /N F B [H IE B FE

#F 1 MIC range RUMIC (#iZ) MIC: 1 g/mL
HE4 Efi[a] BER S MIC range MICso MICsg0
‘ \ 5 4 [l 150 026 - 2 2 2
AF VMR T 77— B ke
AN
Methicillin Resistant A 150 0.25 - 2 1 1
coagulase—negative
Staphylococci (MRCNS)
% 6 [a] 150 0.25 - 2 1 1

55 4 [AI) B EBR 4
MIC: &/NEBHLLRE

MICso: 50%F /N H FHIL B E

MICso: 90%FR/NEF FH LB BE

+F2 MIC &% BB S
. . MIC (u g/mlL)
S ey

0.125 | 0.25 0.5 1 2 4 8

%1 [\ 15 35

%2 = 25 35

%3 H 6 82 2
MSSA

% 4[5 17 32 1

%5 A 28 22

%6 | 2 38 10

%1 18 80 2

% 9 [A] 27 91 2

% 3 [\ 22 155 3
MRSA

564 14 83 3

%5 [ 30 68 2

% 6 (A 72 28

%1 A 22 12

%2 = 24 13

%3 H 42 16
PSSP

% 4 5] 16 30

%5 A 9 40 7

%6 = 7 54




%108l 17 12
5 2 [A] 22 11
%5 3 [A] 25 19
PISP o
4 [A] 12 20
% 5 0] 27 13
%5 6 [ 36
95 1 [a] 9 3
% 2 0] 12 8
% 3 0] 20 13
PRSP —
%4 [A] 9 13
5 5 [A] 1 3
% 6 0] 3
% 4 0] 2 6 64 78
MRCNS %55 [\ 7 43 93 7
%6 [A] 2 64 73 11
1 MIC RES#H
S.aureus(MSSA) S.aureus(MRSA)
100 100
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é b EAS07) = 5520 (601) é = {1001 == 2 (1207F)
z z
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0 0
e FESE50%) =t F6[E](50HF) = ZES[E][100tK) ==L (100%)
0 0
<0.06 0425 025 0.5 1 2 4 8 <0.06 0425 025 0.5 1 2 4 8
MIC(ug/mL) MIC(ug/mL)
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